HWU3-18
QUESTION:
Two 20.0-g ice cubes at –14.0 °C are placed into 255 g of water at 25.0 °C. Assuming no energy is transferred to or from the surroundings, calculate the final temperature of the water after all the ice melts.
[image: ]
ANSWER: __________ ◦C
HINT:
One way to solve this type of problem is to express the total heat exchange as one giant formula. In this case, the final temperature is the only unknown value.
heat needed to warm		heat needed to		heat needed to warm		heat released to cool
40.0 g of ice to 0 ◦C	     +	melt 40.0 g of ice	+	40.0 g of water to the	     =	255 g of water to the
[bookmark: _GoBack]						final temperature		final temperature
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Two 20.0-g ice cubes at - 14.0 °C are placed into 255 g of water at 25.0 °C. Assuming no energy is resource for tis topic, please Ie
. transferred to or from the surroundings, calculate the final temperature of the water after all the ice melts.
. heat capacity of HO(s) | 37.7 J/(mol- K) |
° heat capacity of H20() | 753 Ji(mol-K
D eat capacity of HoO(l) ({ ) T
. enthalpy of fusion of Ho0 | 8.01 kJ/mol , TechnicalSupport and B
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